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Here are two clock faces.

Rapid reasoning Monda

Join each clock face to the correct digital time.
Which of these numbers give 80 when rounded to the nearest 10?

Circle all the correct numbers. g:20
S 84 - 87 72 76 90 a0
4:40
8:40
A number multiplied by itself gives the answer . G4 —
Circle the number. 8:20
% 2 3 4 5 6 7 8 9 - 4:20



Rapid reasoning Monday Answer:

Here are two clock faces.
Which of these numbers give 80 when rounded to the nearest 10? ~ J0in each clock face fo the correct digital time.

Circle all the correct numbers. —

@) & 17 T 90

A number multiplied by itself gives the answer 64

Circle the number.

§‘m2345679




Rapid reasoning Tuesd:

Here is a shape

on a square grid.

For each sentence,

put a tick if it is true.

Put a cross if it

is not true.

Angle Cis an obtuse angle.
Angle D is an acute angle.

Line AD is parallel to line BC.

Line AB is perpendicular to line AD.

Complete this table to show the numbers rounded to the nearest 100.

One has been done for you.

£ ‘

rounded to the
nearest hundred
316 300
3162
31628
316281

Ann andl emptied our purses onto the
table. Altogether we hadl7.86.

If | started with £4.21, how much was in
l vy Q& LJzNE S K



Rapid reasoning Tuesday Answel

Complete this table to show the numbers rounded to the nearest 100.

One has been done for you.

-"
e

Here is a shape N rounded to the
on a square grid. nearest hundred
For each sentence, : 316 300

put a tick if it is true. N 3162 3200

Put a cross if it c B

is not true. 31628 31600

Angle Cis an obtuse angle.

Angle D is an acute angle.

£3.65

Line AD is parallel to line BC.

NN

N

Line AB is perpendicular to line AD.

AN




Rapid reasoning

Write the missing numbers to make this multiplication grid correct.

Join each box to the correct number.

One has been done for you.

half of 98

double 4 x 4

30

32

44

49

«< LI
9 63 54
[ s s

Wednesda

Each missing digit in these calculations is 2, 5 or 7.

Write in the missing digits.

You may use each digit more than once.

w
|




Rapid reasoning Wednesday Answer:

Three boxes completed correctly as shown:

Two lines drawn as shown: 2 1le
30
6 x5 8
32
half of 98
(a)
44 / + 1 8 = 2 S
double 4 x4 (b)
2 5 x 3 = 7 5

49



Rapid reasoning Thursde

Sarah draws a quadrilateral.
It has these properties:

e it has 2 long sides the same length;

e it has 2 short sides the same length;

e it does NOT have any right angles;

e it does NOT have reflective symmetry.

Write the mathematical name for Sarah’s quadrilateral.

Which of these numbers give 80 when rounded to the nearest 107

Circle all the correct numbers.

X 84 87 72 76 90



